=
<

g 5 f : :
= | : :
S 810"1 R A e
g o ? : :
107t I : :
o + : :
1072 e R A SRR
= e : 1
107 i Pt :
T Wi | SRR
E E"""'-'- +. +:“
| : R
.9190%_ .91904‘17 ...! T | .!
IS i @ : :
g | I TP TR
| (TR
0.95 '71 . . 095t : :2 .
10 1 TPlpg)T (PCA t%obeamlinélf) 10 1 TPlpoT (PCA t%obeamlinélf)
—=— DQM_CKF_TT_base_noSel
—e— DQM_CKF_TT_retrainOldFiles113_noSel
—— DQM_CKF_TT_retrainOldFiles125_noSel
=~ 1= —
= : E Pt
2 : |
> g“‘
3 o 107
5 ©

=
<
W

1072 i

o p/p.)

1071 1

101 ' ' '2 3
10 1 TPl[:g)T (PCA t%)obeamlin%)o

1072

0.051 '
10 1 TPlpOT

2 3
(PCA tjbobeamliné'f)



	Contents
	Page 1


